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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBBOEILIOKRES TREOHBESSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
zhLst — -~ = —| FhLst -~ = — — st — - ~ — — | st - ~ — — —
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst — - ~ — —| Fh st - ~ — — — Fnst — - ~ — —| st - ~ — — —
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst — -~ = —| FhLst -~ = — — st — - ~ — —| st - ~ — — —
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 477 59.48 | =S | 000 ~ 0.00| 1.74 8.81 ThLst 1.00 | 5.00 ~ 5.00 59.48 | =hH | 5.00 ~ 500 1.74 8.81
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 452 56.39 | FnS | 000 ~ 0.00| 1.57 7.91 ThList 1.00 | 5.00 ~ 56.00 56.39 | =S | 5.00 ~ 56.00)| 1.67 7.91
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst — - ~ — —| Fh st -~ — — — Fnst — - ~ — —| st - ~ — — —
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
Thsn — -~ = — | Zhst -~ = — — ZzhLst — - ~ — — | #hst — ~ — — —
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
Thsn — -~ = — | Zhst -~ = — — ZzhLst — - ~ — — | #hst — ~ — — —
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
Thsn — -~ = — | =hust -~ = — — Zzhust — - ~ — — | #hust — ~ — — —
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst — -~ = —| #nLst -~ = — — Zzhust — - ~ — — | Zhst — ~ — — —
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
Thsn — -~ = — | Zhest -~ = — — Zzhust — - ~ — — | #hst — ~ — — —
19 100kN/MZ#8Z % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8 %% — - ~ — — |3m#%EEZ 5 - ~ — — —
Thsn — -~ = — | =hest -~ = — — ZzhLst — — ~ — — | #hst - ~ — — —
13 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — el — — |3m#%FHEZ 5 - ~ — — —
Thsn — -~ = — | =hust -~ = — — ZzhLst — — ~ — — | #hust - ~ — —
14 100kN/ Mm% A5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%FHEZ 5 - ~ — — —
zhsn — -~ = — | =hst -~ = — — ZzhLst — — ~ — — | #hst - ~ — — —
15 100kN/ Mm% Z 5 — Sl — — |3mEBZRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m#%EEZ 5 - ~ — — —
Thsn — -~ = — | =hust -~ = — — ZhLst — — ~ — — | Zhust - ~ — —
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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBBOEILIOKRES TREOHBESSLADKRES
16 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
zhLst — -~ = —| FhLst -~ = — — st — - ~ — — | st - ~ — — —
100kN/mM%E#BZ 5 ~ ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEHBRD ~
ZhLst ~ st ~ Fnst ~ st ~
100kN/mM%E#BZ 5 ~ ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEHBRD ~
zhLst ~ st ~ st ~ st ~
100kN/mM%#8Z % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
zhLst ~ zhLst ~ st ~ Zhst ~
100kN/mM#E{BZ % ~ ImEBAD ~ 100kN/ m#%#8Z% % ~ ImEHEAD ~
zhst ~ zhLst ~ st ~ FnLst ~
100kN/mM%E#BZ 5 ~ 3mERBAD ~ 100kN/ m#%E#8Z% % ~ ImEHBRD ~
zhLst ~ st ~ Fnst ~ Fnst ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




